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SECTION—I
Qus—I

1. What were the causes of the Santhal revolt?
‘}}— What were its course and outcome? 38

Guret 2R & ®ro 1 97 Igh fa iR 3uh 9o
A7

2. Examine the characteristics of the Birsa
movement. 38

i errem 6 faRmaredt ht wften Fisw)

3. “Champaran Satyagraha was a watershed in .
—— the freedom struggle.” Explain. 38

‘T gemR wdhar ged w1 s s A
o1’ wE HifsT|

4. Discuss Nehru’s views on communalism and
secularism. 38

ATFTETRER S e ) YeE & foen i faaem
it |

5. Bring out the main features of Patna Qulam
;\‘// Painting. 38
go1 e Teeen i g fasivareti @i T S|
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6. Write short notes on any two of the

following : 19x2=38

(@) Gandhiji’s views on Satyagraha

(b) Jayaprakash Narayan and the Quit
India Movement

(c) Subhash Chandra Bose and the INA
Fritefen # ¥ Rt @t wiem feofiraf iR
(%) Feme W i % R

(@) TR T W B s

(T[) RUILEE Eﬁﬂ 3?[( 3Fo o To

SECTION-—H
TUg—I]

7. Which organization launched the world’s firgt
commercia] rocket pPowered by biofue]
Stardust 1-0% Explain in detajl. 38
W ‘wree 10" % gm0 il frvg 3 o
TS e H frg gy S Y& fem man?
Tremgds auiy FHifsm
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8. Explain the 12th BRICS summit’s major
N\ emerging issues—partnership for global

9.

stability, shared security and innovative
growth for the development.

123 for e ¥ YT I A e ¥
o wmgerd, wmen wan i fwm ¥ fau afma 9fs
maﬁ?ﬁ%rql

Examine the recent basic features and

%ovisions of ‘Aatmanirbhar Bharat Rozgar

10.

Yojana’ after  the spread of COVID-19
pandemic with special reference to India.
Td & oy ey # Hifae-19 Temi % haE & 916
‘Irenfit W Use AT S &1 <6l THE faxiwara
Td WEHm o e Hifm|

Discuss between the India-European (EU)
Broad-based Trade and Investment Agree-

ment.
-0 §9 (EU) % 09 SA0%-SNER[ AR
v Fm ot A far A

11,, Discuss about ‘Harit Bharat Sankalp’, a

01/FF/CC/M-2021-02/58

Mobile App, +to promote environment
protection and sustainability in India.

W A e g W fRra % deee v, i@
R Whed & TR 7 fade hif

38

38

38

38
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SECTION—II]
Qus—II1

12. The pie chart provided below

. distribution of land
/various food crops.

carefully ang answer

gives the
(in a village) under
Study the Pie chart

the questiong given
below
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(c) If the production of wheat is six timeg
that of barley, then what is the ratio

between yield per acre of wheat ang
barley?

(d) If the yield per acre of rice was 50%

more than that of barley, then the

production of barley is what percent of
that of rice?

(e) 1If the total area goes up by 5% and the

area under wheat production goes up by
12%, then what will be the angle for
wheat in the new pie chart?

4+4+8+10+10=

= & T g9 wwoh e m v F e smwEts
Y- (Th T #) w weRid el ¥ 39 gweh o=
FrEgH ¥ AR =N R T vt F s A

fafsyer @ waeH % forg &wer q27 (Twe §)
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(%) FA-H A FEEA H THEE G B 5 T
S5 % 50% I AE(d HET 27

(@) R =R % e $a smEfg 3 1-5 e we

a,a‘rwﬁwa%%qﬁﬂm%a(ﬁ%m
THES §) ot

during the Period 1996-2001. Study the line
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graph and answer the questions that are
based on it :

Percentage profit earned by two companies X and Y
over the given years

= t‘u
% Profit/Loss = Income —Expenditure 100

Expenditure

80 T
70: 7
60 T
S0 T
40 T

Profit %

30 T
20 1
10

1996 1997 = 1998 1999 2000 2001

Years

(a) If the expenditure of coinpany Yin 1997

was ¥ 220 crores, what was its income
in 1997?

01/FF/CC/M-2021-02/58 ( Continuéd




(9)

If the income of two companies were
i equal in 1997, then what was the ratio

of expenditure of company X to that of
company Y in 19977

() The income of the com
2000 were

respeétively. What wag
ratio of theijr exXpenditur

ratio of 3. <
the respective
€s in 2000?

(@)

Income of Company X ;
‘Same ags jtg expend

the income of Company X in 2001.

4+8+8+8+8=36

A Frgf XM YH 1996-200]

I % A aﬁammmﬁmnﬁm&hw

»

A K - Turn Over /)
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2 S T w9 T T

BN R g auf % SR X aar Y FEE
% 3fffa @y fawra
/A=~ x 100
s T X '
704 | 65

60 T
S0 1

T %

40 1

30 1
20 1
10

1996 1997 1998 1999 2000 2001

(%) If af 1997 # Ym?:ﬁm = ¥220 Wi
£ m,aﬁ1997ﬁwﬁmmﬁaﬁ? ’w')

(@) wﬁa&1997ﬁaﬁmﬁa‘iaﬁmw2ﬁ,
@ 1997 § X Frqht = Y St & aniyg =
MIETEF A 97 99

() E?r-ﬁmﬁvﬁxam Y= a9 2000 § amg =5

r | ST DT 324 R, A 2000 F o
B AT T oy

| 01/FF/CC/M-2021-02/58 20, 3%
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- 1996 H X T Y 3t wrafat o5

RRRIENE
o 7 A TR R g ey o

342 w08 A, M 1996 ¥ 35

1996 #

AT FEf
T T TR o [ 4575766 007

(®) T 1998 & X wory o = &
X B 6 1998 1 arg
ﬁsqnqm%aw of,

Wﬁmm%\

14. Answer the following

information given below -

200 =g o
3% 7§ 2007

?ﬁaﬁzomﬁx

€. The second table
gives the average starti

students PEr month (
third taple gives the

in ¥) in these areag. The

NMumber of students who
Passed out in each

year.
First Table Second Table
Mar- Soft- . Mar- | Soft-
keting | ware | Others Finance keting | ware
36 19 23 1992 | 5450 5170 | 5290
| 7 T —— 6440
993| 17 | a8 23 | 12 ||1993| 6380 | 6390
oo 0 | 7050
1994 23 43 21 13 19941 7550 | 763
| 19951 0 8960 | 7760
1995) 19 .|, .37 16 | 28 ||1995| 8oz .
e 20
199¢ 32 39 20 16 1996 9810 | 102

01/FF/CC/M—2021—02158
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Third Table

(b)

() Find the avera

(d)

T+7+7+7+8=3t

( Continued.
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ﬂ%éTq%?Iaq‘%F 3ﬂfﬂ1‘¥(fﬁtq'35#153'3?ﬂ2?hﬁaul:
ot TN T Ho To Fiet % 31 Rt 3 v
A e ? Rl fom, i a4y

1992 5450 | 5170

— 1 7Y |
1993| 6380 | 6390
199417550 | 7630
1995| 8920 8960

1996 9810 10220 8640
e grof :

N7
600 - : :
1997 1993 1994 1995 1996
(%) ﬁﬁﬁ%ﬁmﬁﬁ@%é‘ﬁﬁmm
Wﬁaﬁﬁmﬁ’fﬁﬁ '

W H IR T o
(@) =f 1992 % af 1996 7% Ry SRS ol
1 sl I # Rt afy

(wfera) g

er )
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60
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40 |

30 -

20 |

10 -

( 14 )

() Wi & 6 geord o # sfed i iy
T I AR

(@) =f 1993 & Yery Fwh! H & W ATt Wi
Eluiiics i

(¥) =¥ 1994 # fam & @@ wiveam &7 & T

T A i T Fa qME A A TR I
s

A soft—cllrink company prepares drinks of
three different flavours—X, Y and Z The

proc!uction of the three flavours over a period
of six years has been expressed in the bar

graph provided below. Stud
: y the graph an
answer the questions based on it : ! ‘

Produ.ction of three different flavours of soft
drinks X, Y and Z by a company over

the years (in lakh bottles)
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(a) For which year, the percentage of
rise/fall in production from the previous
year is the maximum for the flavour y?

(b) For which flavour the average annual
production is maximum in the given
period?

fc) The tatal production of flavour Zin 1997
and 1998 is what percentage of the total
production of flavour X in 1995 and
19967

(d) What is the difference between the
average production of flavour Xin 1995,
1996 and 1997 and the average
production of flavour Y in 1998, 1999
and 2000?

(e) What was the percentage decline in the
production of flavour Z in 2000 as

compared to the production in 1998?
10+8+6+6+6=36

w% Tiadt 99 oM el wEE o TR 6 X, YA
7 TR % U S 21 B: a6 % ORH O Wl %

g &1 Ieured e 3T T SR dEE ¥ wEki
fr T 31 2EeR ST R e 6 SR S
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X, Y @ik Z vaar & wfiact 941 1 [ aut §

F} gRT FRAT T SETE (AT et §)
A x Oy ®|z
: 60
00T, ....55 : 55 B 55 ; =
s0 [AR 9 50
205 5% 45 2 45| | ; ; ik
LB Y A8 VE VE /
40 '/ 7/- ; /] / i
728 BZ1 BZE B7h 71 WY
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4 / / / / / 5
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1995 1996 1997 1998 1999 2000
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(@) fou e wm & foe = ¥ W o s s

(m

()

(®)

01/FF/CC/M-2021-02/58

qaiften @i

X ®R % ¥ ¥ 1995 [ 1996 & Fa

SR F Z T/ % 1997 T 1998 &I Fa
S Thamn o w@i?

X R 9 W F 1995, 1996 ©d 1997 %

A IV T Y W A W F 1908,
1999 W 2000 ¥ shww s F feen

AW 77

Z W % 19 ¥ Ieqreq i 1998 % "Ry 2000
ﬁ%ﬂﬁwﬁmﬁﬁr{maﬁﬁﬂé?

* ok K

JT-21



